N YIPM-1PY050 MINONI NN

2003 N80 :TYIN

PIOWIN ONOIN : NN

DNN 7253 192399 MY NN TR TNNYL DX NP PN) .NDIND RID MYV 3 TNvI) ST
2 WNRNWND 11930 R¥NNY 1Y 99N DI DDIND DN XY

:1 NHNY
NNNX NYNN .TMYNN ONY DY NN NI DI 9INIY 515> NOYIND NOMN NNND DRNN HNINHNN VI

NAMNN MNIVYN .7 T0IN 210107 BN b>0 Sy Dvwn NN 7NNIN »1On” DX a>0 Yy Dvwn NNYVan
Y10N7Y PHNRND VION 7PN Y1917 DR d>0 HY DYWN NNXVAY 7NXIN Y2917 DX ¢>0 DY DYWYN
.p MMNANDN ’NNIN

TMONNN ONY DY NPIPN NN I YWY MDNN DY 9182 1N VIV NPND 91D ONN

12 NYNY
TINN DOUYI 7NN I DT NI T NINRYA AP TINND DOPYYI NPNIY NNMND DM D551 M0N0
R aUR L

MDVIIVHN HY NP X NN

(b,a) Nwann NMv (a,b) NwIN Hundw 25 o) . X-1 ©XVINONR DY NP KD NITO NN NDIY
((a,a,b) NPwINm

Aap,.,ag} T TN 9ax L=(ay,..,ax) N7170 995 nnown C 19N2 08PN (NN 195 KXD) 11 NYNRYA

MINX TAN MITON PI1IN DO NIAY MNOWIN YININ TO TIND MY NN Ly... Ly, Mnowd Dy v
<Li,..,Ly> -2 9w9vn R 100 0w

: C N7PN2n mONPNaY 10N

o»pnn Lyi,.., Ly, 1100w DY 1970 50D X ) 1) 1wawh nnu»IMmNm sNIn N»pn

* C(<L15aLm>)=C((C(L1)9C(L2)7a C(Lm)))

.PNAN DX MY PN NNIWIL DMIAND ITD MY DX (OI) 9705 N1UIIIIND ININ DX NNOPN

NN MYN OR INX DIPNA NNHWIA YNV 1IX NpNN OX (DI) 519505 NPLINPNN ININ DR NP»PN
NN

NYNPND DY MINHDNT XNYY IMN NMINMPPNN NN NPIPND DY MNXHDNTONY )M [ NN DX 9200 X
ADIN DIDMPN PNRY NN

7axN WD C(ay,..,ag) -¥ 72 X Dy pin naTyn on> vy 735 0opw DI-y O |1 oxonw nxan .2
Aap,..,ag} NP GTIININ
72 MYV OININI 73N DININD NVIVY ONXN )



:3 NHNY
A8 XN 0W N L[0,1] YOPA NN D2 NDINY INNIN AN XN I 7DD 1IN DN MY DYV
7252 NN NNYY NN PIINN IND TVANY

oY MY ONIN MY P89 1IN 0191 d Y 197 ™MD nX P30 [0,1] yopa 190n ¢ awra (c,d) »3 wn bo
Ru) il

X/2 0 X DY N2 NPRY Y3 MND DY DI BY PIYD WD MDIZIIND PIN

X/230 X DY N NPRY Y3 MND DY) DIN Y92 PIYD YN NPDIZIIND PIN
YA NPDIVIIND JIN NPNDINM , DIV KD XM DIV DY PIVD ¥)IN MOIVIINDN ISN ,MINN D9N3I)
(MTNN PN DIVPN MIOM DY

u(e,l) = A/x + 0.2 NIIN TPIPN NN DXV YIOW NN MWUNI .N

u(c,0) = x

AMNX 2VN DIMIDTD 11 P2 PONN PIVIA IMINN IPWN NV 11N

0 TN 0.28 1PN DIV DY HPWNN MY PNNY TID 5X2IND TIX DIWINN :NPIT)
I3 PIVAOIMIND DPWN MY DY MW7 NNON DY I 9N NN

NN D090 Y35 .17 NITN? YNNI 1NN NDN 1D INNDSY NN TIY PR DYDY NNY NN .a
NOVIN TPNPND

u(e,l) = Vx + P
u(c,0) = Jx

110 ONNN DIV PNN P -2 MIDN NOVIND IXPNOY N DOV N
! (TRND AN ) HPWHN MY NN YN DMMDTPD 11 P2 POONN PIYVI XMINN DPYN ONY 9N .a
I PV OIMIND HPYN MY DY MWD NNON DY I 9N NN L)



